Description

Measurement

Quantity

Part List

Description

Measurement

Double Chicken Coop

Quantity

N
E “|E| N 19 Front part of left enclosure ! 660 x 710 x 25 mm 1
1 Front part of left sleeping house N \ N 1046 x 550 x 25 mm 1
Il \l = [ Q R (R |
N Q N {
i N %\ 20 Front part of right enclosure 660 x 710 x 25 mm 1
{ N & N R
N N § S SESNEHEN —— S|
2 Front part of right sleeping house N 1046 x 550 x 25 mm 1 21 Back part of left enclosure \ A 660 x 710 x 25 mm 1
. N
ﬁ N 22 Back part of right enclosure 660 x 710 x 25 mm 1
3 Back part of left sleeping house \ I 1046 x 550 x 25 mm 1 diia ~SH
23 Divider for enclosure 544 x 710 x 25 mm 1
\ 24 Roof part of enclosure, left 590 x 438 x 25 mm 1
4 Back part of right sleeping house 1046 x 550 x 25 mm 1
% 25 Roof part of enclosure, right 878 x 590 x 25 mm 1
ﬂ/
5 Side wall of left and right sleeping house 853 x 544 x 35 mm 2 26 Support for ramp 235x35x 25 mm 2
6 Right side wall of left sleeping house 501 x 544 x 35 mm 1 pon) Desaireen Size R Term
7 Left side wall of right sleeping house 501 x 544 x 35 mm 1 A Thread screw with nut 26 x 60 mm 8+1
8 Roof plate 674 x 393 x 35 mm 4 B Thread screw with nut @6 x50 mm 8+1
9 Ridge 700 x 82 x 61 mm 2 C Countersunk screw @ 4 x 60 mm 12+1
10 Drawer 477 x 566 x 65 mm 2 D Countersunk screw @4 x50mm 38+1
n Ramp 657 x 200 x 23 mm 2 E Countersunk screw @ 4 x35mm 16+1
12 Perch 497 x 35 x 30 mm 2 F Countersunk screw @4 x25mm 8+1
Front part of the left and
@3 x16mm 16+1
13 back part of the right nesting box 330 x 296 x 30 mm 2 G Countersunk screw %Wﬁ
Back part of the left and i
14 front part of the right nesting box 330 x 296 x 30 mm 2 H Right/left check strap plus 8 screws | for each 28 cm ”n
15 Side wall of nesting box 510 x 249 x 22 mm 2 | Lenshead screw s 23 x10 mm 16+1
16 Roof plate of nesting box 590 x 363 x 30 mm 2
Other parts already assembled (spare parts separately available)
17 Bottom plate of nesting box 507 x 329 x 15 mm 2
Description Size Quantity Item
18 Divider of nesting box Q 336 x 205 x 5 mm 2 Hinges for roofs 7.6 cm 2

@D Made in China. @ Hecho en China.



Double Chicken Coop

Repeat the same steps for the right sleeping house.
First fix the front and back parts (2/4) to the side

\il\\\\ ]

Screw the left enclosure to the left sleeping house.

Assembling Instruction

: /77777, =
m S ——
2 5 7
° @ \
: 2
N o Z
0 <
@ .
= o
] A =
2 - in
IN
<
o
o
v
it
© NN/ 1
S UV XX O a Y/ A——————
8 FEs 5 /7 77/] /7777
o sS85 S 7 =
= ) o m“ 7
@ 3o @ 7 155117,
- [e = ii\o) < [
o a ~ = —
3 29— = V17777
= 252 i W N b T
z = 2 E e——aa—\ X 2 4
i . —— A K .
: 105 A g s &
£ g 7\ < N
] RS i\ \\ e
~ SR o o Y/
S S5t =
Z5 2 \
S = 22 5% —x——rX U
© o Y ac
+ = c a-= L
.vuw v * S5 c
Lo £ 0oz e
P Po g s
9 2TE5
2 X wn
ks Sge>"
®® EAQaN 3
32 tEeEZ Y .
owm S5 R m
Za hE 3o -
—
v
5 —c E=
/A 3
: g
°
2 /) F
R =] N a
3 e NN \ ]
B = § A =
o0 z LNy g
£ SNN\=5 A ~
4 3 ﬁ‘c, S 2
g 5 \ AN\ S
@ @ e °
< % \ ‘==.>\\ <
S 9 \ L =
o < ¢ ya/a 15}
b4 5= A, a
() = © _/ e — -
hW ) —d— s
= 00 / ©
o 3 ey
5 25 5
a o B
B < C
o i 2
° £2 e
m o © )
=] z Q9 . B
x o & o 3
i Za - z
]
o % .
oo B ==
£ O g
o= : o
- x
v E o 3 =]
c © o
o 2 0 <
ER- ) o
£E9 £ £
° X < 3 o
Bnu c =
T o T o h=4
T - @ N
o2 = A &
xo = S \\ %7 ‘ A o
EERS 2 \ \¥ 2
7 \ . SNYULLL o
L \ . s
.mwg = \\\* 77777/, =
© O C 9 \ “II\\| s ~
P =] A Y 2/ /4 a
S o = X Vel £
cLag a X / /L4 E
=<5 c — 777 ©
v oY ] 177777, °
£2£ <] — <
5 @ =
2SS o < £
UV N~ - A [
oM~ x L %)
a o i - £

Afterwards fix the roof plates (8) and the ridge

and the back wall

)

Screw the front and back parts of the nesting box
(13/14) to the side wall (15) and the bottom plate
(17) of the nesting box. Insert the divider (18).

&
=
deo
@ =
) S c
> a.c
o = &
< S e
E £
£ =
& 1/7/7/ 2 c
7} [— .2
< ¢ 777
o Y /) e
2 /= iz ¥s
M /7 7777/ /22 a9
A
] . c
— o LN
& - o
@ = oa
¥ o E
gs
o 5o .
— S 55w
5 iy SRS
= = @ EL o
t
5 f—————— o 5
H = m RN\ =
© ~ X / \— al
S T AN £ 8¢
S g - S S\ Mwe
@ s 3 e 2 e
£ g2 | AN w2
° “ o0 | y H S £x
2 o ¥ | \ 77 £ X%
°a ! /) 4 © = =
~ i A & B
~ o @ q ]
= << K.\ v/ s e A c 53
5 o N 28%
= X = AN/ N 28
5] ) /RN, N\ 293
a a= . e =0 o
2 = @ T = S
S < 2S5
=] =] = o
k= MO [SIET N X
+© = o~ 3
@ (m) . " v © O
£ <2 ()] =R -
,
o =
R
@
g .
g : g
o - a
2 ° 3 (777
5 < 2 /
— o 2
\W\rW m s o ©
™ © VE, &
T £ k] S é\.?/ //
= — o = . (forman
L2 = = ’
5 g o = ’
a c ©
~ o < S ‘ =
32 < — v 7.
t 7
o g = = ———7/Y),
25 5 575717/
£+ S = Y / /LT
o = £ X [l L L
PV~ @ 5 /|
= a j 117777
g3 2 £ 77
&
s 8 = =
< o t .
+ oo [ a
x £ . ) . ] n
i a - £ -} £ -




